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SECTION A

Answer ALL the questions in this section. You should aim to spend no more than 20 minutes on

1

this section. For each question, select one answer from A to D and put a cross in the box [X.

If you change your mind, put a line through the box $¢ and then mark your new answer with a

cross X.

Manganese forms a complex with carbon monoxide, with the formula Mn,(CO),,. The
oxidation number of manganese in Mn,(CO),, is

L] AO
1 B +2
L] € 45
L] D +10
(Total for Question 1 = 1 mark)

The reduction of nitrate(V) ions by aluminium in alkaline conditions may be
represented by the equation below.

xNO; + yAl + aOH + bH,0 — xNH; + yAl(OH),

From the change in the oxidation numbers of nitrogen and aluminium, it can be
deduced that the values of x and y are

[0 A x=3andy=2
[0 B x=2andy=3
[J € x=8andy=3
[ D x=3andy=8

(Total for Question 2 = 1 mark)

Which of the following is correct for the standard hydrogen electrode?
[J A The temperature is kept at 273 K.

[0 B Sulfuric acid with a concentration of 0.5 mol dm= is used.

[ € The metal electrode is copper foil.

[l D The hydrogen pressure is 1 atmosphere.

(Total for Question 3 = 1 mark)
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4 The standard electrode potentials of two electrode systems are given below.
Cr*(aq) + 3e~ = Cr(s) ES=-0.74V
Cd*(aq) + 2e- = Cd(s) E“=-040V
Calculate the EZ, for the reaction

2Cr(s) + 3Cd**(aq) — 3Cd(s) + 2Cr**(aq)

LJA -034V —
1B +034V —
[J]C -0.28V —
1D +0.28V —
(Total for Question 4 = 1 mark)
5 The calculated E“ for a reaction is positive but no reaction occurs when the reagents

are mixed under standard conditions. It can be deduced that

[J A the reaction is thermodynamically feasible and the reaction mixture is —

kinetically stable.
[] B the reaction is thermodynamically feasible and the reaction mixture is —
kinetically unstable.
[J € the reaction mixture is thermodynamically and kinetically stable. —
[] D the reaction mixture is thermodynamically stable and kinetically unstable. —
(Total for Question 5 = 1 mark)
6 The electronic configuration of the iron(ll) ion, Fe?*, is
3d 4s

LIA [Ar] th] 1 I Tl —
1B [Afr] I 1 1 I Tl —
L]C [Ar] I f 1 I f I —
LID [Ar] T 1 t t I —

(Total for Question 6 = 1 mark)
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7 Transition metal compounds often have catalytic properties. The best explanation
for this is that

— [J A transition metal compounds usually have a much larger surface area than
other metal compounds.

— [J B transition metal ions readily promote electrons to higher energy levels by
absorbing electromagnetic radiation in the visible region.

— L] € relatively small amounts of energy are required to change the oxidation state
of a transition metal.
— [] D theionization energies of transition metals are much lower than those of
other metals.
(Total for Question 7 = 1 mark)
8 What are the shapes of the dichlorocuprate(l) ion, CuCl;, and the
tetrachlorochromate(lll) ion, CrCl,?
CudCl;y CrCl,
— L1 A V shaped tetrahedral
— B linear tetrahedral
— [l C V shaped square planar
— D linear square planar
(Total for Question 8 = 1 mark)
9 When dilute agueous ammonia is added to an aqueous solution of a metal ion, a
green precipitate is formed which dissolves slowly in excess ammonia to form a green
solution. What is the metal ion present in the original solution?
— L] A Ni*
— [] B Fe*
— [J € Cu*
— ] D Cr*
(Total for Question 9 = 1 mark)
4
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10 The iron(ll) ion forms complexes with monodentate ethanoate ions and bidentate
ethanedioate ions. The complexes with ethanedioate ions are more stable. What is
the best explanation for this?

[J A Ethanedioate ions form stronger bonds than ethanoate ions with iron(ll) ions.

[J B Ethanedioic acid is a stronger acid than ethanoic acid.

[ € The formation of the ethanedioate complex produces more particles in solution.
[] D Ethanedioic acid forms stronger hydrogen bonds than ethanoic acid.

(Total for Question 10 = 1 mark)

11 The diagram below summarises a sequence of reactions involving chromium compounds.

Chromium(Ill) Zn / H,50, blue filter & allow to green
—> . : .
sulfate solution stand solution
H,0, in
NaOH
orange  _ H,S0, yellow
solution solution

How many different oxidation states of chromium are involved in this sequence?
JA 2
OB 3
Oc 4
oD 5

(Total for Question 11 = 1 mark)

5
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12 All the bond angles in the benzene molecule are 120°. Which of the following
provides the best evidence for this?

— [J A Valence shell electron pair repulsion theory
— [0 B X-ray diffraction
— [] € High resolution nuclear magnetic resonance
— [l D Infrared spectroscopy
(Total for Question 12 = 1 mark)
13 Benzene burns with a very smoky flame. This is evidence for the extent to which the
benzene molecule is
— [0 A delocalised.
— [0 B stabilised.
— [0 € unsaturated.
— [0 D activated.
(Total for Question 13 = 1 mark)
14 When bromine water is added to benzene, no reaction occurs. However, when
bromine water is added to an aqueous solution of phenol, a white precipitate with an
antiseptic smell is formed. What is the explanation for this difference?
— ] A Bromineis a powerful electrophile.
— [0 B The benzene ring in phenol is activated.
— [] € The reaction of phenol with bromine is similar to the iodoform reaction.

[l D The OH group in phenol is much more acidic than that in ethanol.

(Total for Question 14 = 1 mark)

— R0 0 A
P 4 5 0 4 5 A 0 6 2 8



Winter 2015 www.mystudybro.com Chemistry Unit 5
Past Paper This resource was created and owned by Pearson Edexcel WCH05

15 The repeat unit of a polymer is shown below.

What is the structure of the monomer?

0]
2

(Total for Question 15 = 1 mark)
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16 An organic compound reacts with dilute sulfuric acid to form a colourless solution
which produces a white solid on evaporation. It also gives a pale yellow solid on
reaction with iodine in sodium hydroxide. The compound is

@)

NH,

— DBO:/_\

NH,
HO
— ] C ; \
d
@)
cl

(Total for Question 16 = 1 mark)
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17 An organic compound produces steamy fumes with phosphorus(V) chloride but does
not react with 2,4-dinitrophenylhydrazine. The compound is

0
A *2*0'* —
0
0
HO 0o——
0
OH
oc /_% —_—
7
0
OH
D D I
F(
4 OH

(Total for Question 17 = 1 mark)
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18 In the mass spectrum of an organic compound, the molecular ion occurs at m/e = 86.

Which of the following could be the empirical formula of the compound?

— L] A CgHy,
— 1 B GCsHN
— 1 € GH,,0
— [ D CH,F
(Total for Question 18 = 1 mark)
19 The high resolution proton nmr spectrum of propan-1-ol, CH;CH,CH,OH, contains

four peaks. What is the splitting pattern of the four peaks?

[Where 1 represents a singlet, 2 represents a doublet, etc.]
— L] A 3221
— [l B 3431
m— [J] € 3631
— [] D 3642

(Total for Question 19 = 1 mark)
20 Which of the following techniques would be the least effective as a control measure

to reduce risk when heating a flammable liquid?

The use of
— [J A an electrical heater.
— [J B afume cupboard.
— [J € asmall quantity of the liquid.
— [J D areflux condenser.

(Total for Question 20 = 1 mark)

TOTAL FOR SECTION A =20 MARKS

10
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SECTION B

Answer ALL the questions. Write your answers in the spaces provided.

21 Brass is an alloy of copper and zinc, often with traces of other metals. The copper
content of brass can be determined by dissolving the metal in concentrated nitric acid
and measuring, by titration, the concentration of the copper(ll) ions formed.

(@) When concentrated nitric acid reacts with copper, the copper dissolves and one of
the products is dinitrogen tetroxide, N,0,.

(i) Use the data on page 15 of the Data Booklet to write the ionic half-equations
for this reaction of copper with concentrated nitric acid. State symbols are not

required.

(ii) Write the overall equation for the reaction of copper with concentrated nitric acid
and calculate E, for the reaction. State symbols are not required.

(iii) State one observation that you would expect to make when copper dissolves
in concentrated nitric acid.

11
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(b) 1.35 g of a sample of rivet brass was dissolved in concentrated nitric acid. The
resulting mixture was boiled and then allowed to cool before being transferred to
a volumetric flask. The solution was made up to 250 cm? with distilled water and
mixed thoroughly.

Excess potassium iodide solution was added to 25.0 cm? samples of this solution,
and the liberated iodine determined by titration with a solution of sodium thiosulfate
of concentration 0.0505 mol dm=3. The mean titre was 26.35 cm?>.

(i) Write the ionic equation for the reaction of the copper(ll) ions with iodide ions
to form copper(l) iodide and iodine. State symbols are not required.

(i) Write the ionic equation for the reaction of iodine with thiosulfate ions.
State symbols are not required.

(iii) Use the equations in (b)(i) and (b)(ii) to show that the amount of copper(ll) ions
is equal to the amount of thiosulfate ions.

12
— R D R
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(iv) Calculate the percentage by mass of copper in the sample of rivet brass.

13
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(c) (i) The reaction mixture in (b) was boiled before being transferred to a

volumetric flask. This removed dissolved nitrogen oxides which would
otherwise oxidize the iodide ions.

Explain the effect that omitting this step would have on the value obtained
for the percentage of copper.

(i) Any nitrogen oxides that remain after boiling can be removed by the addition
of urea. When this was done, the mean titre changed by 0.25 cm?,

By considering the uncertainties in the various measurements, explain
whether the addition of urea is worthwhile.

(d) Both copper and zinc are d-block elements, but only copper is a transition metal.

(i) Explain the term d-block element.

14
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(ii) Explain why copper is classed as a transition metal but zinc is not.

(iv) Although zinc is not a transition metal, zinc(ll) ions form complexes. Explain
why these complexes are colourless.

(Total for Question 21 = 23 marks)

15
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22 Mandelic acid, 2-hydroxy-2-phenylethanoic acid, has a long history of medical use as
an antibiotic and as a component of some cosmetic face creams. It was first obtained
from an extract of bitter almonds and ‘Mandel’is the German word for almond.
Mandelic acid can be synthesized from benzene in the sequence shown below.

] 4
C—H CH
@ Stage 1 @/ Stage 2 @/ \C —nN
2= . a9 s o =
benzaldehyde
benzene benzaldehyde cyanohydrin
Stage 3
|OH
CH
OH
\C/
I
O

mandelic acid

(@) (i) Use your knowledge of electrophilic substitution to suggest the identity of the
electrophile in Stage 1 of the synthesis.

16

— R O
P 4 5 0 4 5 A 0 1 6 2 8



Winter 2015 www.mystudybro.com Chemistry Unit 5
Past Paper This resource was created and owned by Pearson Edexcel WCH05

(i) Write the mechanism for the electrophilic substitution in Stage 1, using the
electrophile that you have given in (a)(i).

(iii) State the reagents and conditions required for Stage 2. You may assume that
the reaction is carried out at a suitable temperature.

17
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(b) Cyclandelate is a vasodilator (causes blood vessels to dilate) used in the treatment
of arteriosclerosis (hardening of artery walls). The structure of cyclandelate is
shown below.

OH

(i) Suggest a single stage synthesis of cyclandelate from mandelic acid. Draw the
skeletal formula of the organic compound that would be required and state
any essential reagents and conditions.

(i) Suggest a disadvantage of using the synthesis that you have suggested in
(b)(i) for the large scale manufacture of cyclandelate.

18
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(iii) An alternative two stage synthesis of cyclandelate was proposed. This
involved reacting mandelic acid with phosphorus(V) chloride. Explain why
this suggestion is unsatisfactory.

(c) Cyclandelate has three asymmetric carbon atoms.

(i) Circle these three asymmetric carbon atoms on the structure below.

OH

(i) Explain the possible problem that the presence of asymmetric carbon atoms
might cause with the medical applications of cyclandelate.

(Total for Question 22 = 16 marks)

19
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23 Compound P is a very dark purple solid which gives a lilac flame in a flame test.

A sample of P was dissolved in dilute sulfuric acid to form a purple solution.

A gaseous hydrocarbon, M, was bubbled into this solution which rapidly formed
a colourless solution, containing an organic compound, N, and an inorganic
compound, Q.

When aqueous sodium hydroxide was added to Q, a very pale brown precipitate, R,
formed. R darkened on standing in air to form a dark brown solid, S, which was
filtered off and heated to form a dark brown metal oxide, TO,.

The reaction sequence is summarised below.

SolidP ™%, sojutionofp —M , SolutionofN
and Q
NaOH
heat air
TO, D — Solid S <«——  SolidR

(@) Analysis of TO, showed that it contained 36.82% by mass of oxygen. Calculate the
molar mass of the metal, T, and hence identify T. You must show your working.

20
— R0 A
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(b) The mass spectrum of the organic product N, formed when M is reacted with the
solution of P, is shown below.

100

Relative 80 ]
intensity -

1 i t | 1 1 | 1 1
0.0 15 30 40 50 60 70 80 90
m/e

(ii) Identify, by name or formula, M and N.

21
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(c) (i) Write an ionic equation for the formation of the very pale brown precipitate, R.
Include state symbols in your answer.

(ii) Suggest an equation for the conversion of the dark brown solid, S, to TO,.
State symbols are not required.

(d) Write the formula of the cation in P and hence give the formula of compound P.

(Total for Question 23 = 12 marks)

TOTAL FOR SECTION B =51 MARKS

22
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SECTION C

Answer ALL the questions. Write your answers in the spaces provided.

24
Organic Nitrogen Chemistry

Organic compounds that contain nitrogen are vital to life, but are also important in
everyday applications of chemistry.

The simplest organic nitrogen compounds are amines, which may be regarded as
derivatives of ammonia in which one or more of the hydrogen atoms of ammonia have
been replaced by an alkyl group or an aryl group. Some simple amines are shown below.

HsC HsC
AN AN
ch_NHz NH N _CH3 NHZ
/ /

HsC H,C
methylamine  dimethylamine trimethylamine phenylamine (aniline)

Amines with one alkyl group are called primary, with two alkyl groups secondary and with
three alkyl groups tertiary. Because of the presence of nitrogen, the physical and chemical
properties of alkyl amines are similar to those of ammonia but the similarities are less
marked with phenylamine.

Amides are carboxylic acid derivatives which have a carbonyl group adjacent to an
amine group. The simplest amide is ethanamide:

/O
H3C_C
AN
NH,
ethanamide

Because the two groups are adjacent, the chemical properties of amides are different from
those of amines.

Amino acids are compounds with an amine group and a carboxylic acid group. The
presence of these two functional groups gives amino acids properties that are also
different from those of amines. The great significance of the amino acids is their ability

to form polymers called polypeptides, leading to the formation of proteins, the building
blocks of life. To form polypeptides, amino acids are joined by the amide group, sometimes
called the peptide link.

23
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(@) Methylamine boils at 267 K and dissolves in water to form an alkaline solution.

(i) Explain why methylamine has a higher boiling temperature than ammonia.
A detailed description of the forces involved is not required.

*(ii) Explain why primary amines are soluble in water but their solubility decreases
as molar mass increases.

(iii) Write an equation for the reaction of methylamine with water to produce an
alkaline solution. State symbols are not required.

24
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(iv) Suggest why dimethylamine is more basic than methylamine and why both
are much more basic than phenylamine.

(b) The interaction of the carbonyl group and the amine group in ethanamide may
be shown by the following diagram.

1

O
V4
H3C_C/

AN
ZCNHZ

(i) Explain what each of the two arrows represents.

(ii) Draw a diagram showing the ethanamide molecule if the changes indicated
by the arrows go to completion.

25
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(iii) Suggest why the carbonyl group in an amide does not react with
2,4-dinitrophenylhydrazine.

(c) The structures of the two simplest amino acids are shown below.

H,N OH H.N OH
AN / N\ /
HZC—C\ EC—C\
(0] H,C (0]
glycine alanine

(i) Draw the structures of the two compounds, called dipeptides, that can be
formed when glycine and alanine combine. Any double bonds must be
displayed.

26
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(i) In practice, glycine and alanine do not combine readily. Suggest a reason for
this.

*(iii) Describe in outline how a mixture of amino acids can be separated and
identified using thin layer chromatography. You may assume that a suitable
solvent is available.

(Total for Question 24 = 19 marks)

TOTAL FOR SECTION C =19 MARKS
TOTAL FOR PAPER = 90 MARKS

R 0 0 —
P 4 5 0 4 5 A 0 2 7 2 8



Chemistry Unit 5

www.mystudybro.com
This resource was created and owned by Pearson Edexcel

Winter 2015

e Past Paper

WCHO05

€01 wl 10} 00} 66 86 L6 96 S6 ¥6 €6 6 L6 06
wnpuaime] | wnyaqou |wnisslppuaw | winiwuay | wnusisua [winioyies| wngesaq [ wnurd | wnpuswe |wnwoymd |wnwunidau| wnwesn  jwnunoeosd| wnuoyy
a1 ON PW w4 53 D g wa wy nd dN n ed ylL
(267] | [¥sz] | [9sel | lesa) | [vszl | Dvezl | [syal | [ev2d | [evdd | [zvdd | (26T 8£Z [1€2] [4X4
ML 0L 69 89 9 99 c9 9 £9 79 19 09 65 86
wnpain |wnigenh | wnpnyy | wnigie | wmunoy |wnisoidsAp| wnigqiey |wnigopes | wnidosna |wnuewes (wnigiawodd| wnuufpost |wnwiposserd|  wnuao S8H3s 3pIURIY ,
n qA wl 43 OH Aa qL PO n3 ws wd PN Id 2D $a13s apiueyUeT ,
GLL €L 691 191 91 €91 661 161 61 051 [zp1] 44’ (T ovl
LEL oLl 601 801 01 901 G0l 0l 68 88 L8
paiediiuayine A1jny Jou Ing wniusfiueou| wnnpewsuuep| wnusulaw| wnissey | wnuyoq |wniiogess| wnugnp | wnpiopayini  wnwiioe | wnipes | wnpuesy
pallodas uaaq aAeY 91 1-71 | SI3QUINU IO UM SIUSW3 mw._ sa W SH yg wm qad Py | £V ey 44
[zzz] | Dzl | [892) | [zedd | [v92d | [99z] | [zoz] | [w9z]l  [zzal | [9zal | [ezad
98 68 8 €8 8 18 08 6L 8L LL 9L GL VL €L oL LS 9s cq
uope.J aunese | wnwojd | yinwsig pea) wnyjeyy [ Andsaw plo8 wnuield | wmpur | wouwso | wnways | uajsduny | wmeuel | wnlgjey  wnueyiue)| wnueq | wnissed
uy w Od g qd 1L 8H ny id d] SO Y M el 3H £27 eg s)
[zzz] lorz] [602] 0°607 T°L0T ¥'¥0T | 9°00C 0°L6L L'G6l 7'z6l °061 7'981 8'£81 6081 G'8LL 6'8E1 £ LEL 6°Z€L
¥S €S 4 1S 0S (514 8¥ V4 o 14 144 £y v 84 oF 6¢ 8¢ LE
uouax auipol | wnunyay | Auowijue uny wniput | wniwpes [ seajs | wnipejjed | wnipoyd |wniusyini | wnpauyps) [wnuapgfiow| wmqolu | wniuodnz | wnunk | wniuoss | wnipigna
ax | ol qs us uj PD 8y Pd Uy ny 21 ow aN 1z A 1S qy
£LEL 6°971 9°LTL 2Lzl L8l Ll arant 6°L0) #'90L 6°201 L7101 [g6] 6°G6 6'76 6 6°88 9°/8 G'G8
9¢ GE 143 £e 43 LE 0€ 67 8T Lz 9z T4 |4 €T [ Lz 0t 6l
uoydfiay aujwoiq | wnuaas Jwasie |wnuewsad| wnies auz 1addes 12421u 1jeqod ot 2saueBuBw | Wnlwolyd | wnipeuea | wniuejy | wnipuess | wne> | wnissejod
=) 19 oS sy 29 eq uz no IN 0D 94 uw 1D A L 3S e) A
8'es 6'6L 0'6L 6'vL 9'tL L'69 ¥'q9 G'€9 L85 6'85 8°6G 6'%S 0°ts 6'0S W4 0°S¥ L0F L°6€
8l Ll 9l Gl vl £l (z1) (1) (o1) (6) (8) (2) (9) (s) (¥) (€) (43 L
uodie auuoYd Jnjns | smuoydsoyd| Uodljls  |wniuwnge wnisauew | wnipos
Iy 1D S d IS v 8w | ®eN
6°6E G'GE L'ZE 0'Le 187 0°LL £ 0°€Z
1] 6 8 L 9 S Jaquinu (uojouad) wwole 4 3
uosu auuonyy uadhxo uafoniu | uoged uoJloq Sweu wnifiag | wmyn
N | 0 N o) g JOqWAS J1woje ag 17
(4074 0'6l 091 o'vi 0zl 801 SSELU JjWI0)E 2A[1R]9) 0'6 69
4 (£1) (91) (1) (k1) (€1) £ay| (z) (1)
wnay I
.w._._ uaSolphy
: H
0y 0L
(81)
(8o L 9 S 14 £ z !

SJUSW?a)3 JO 3)qe] JIPOLIdd 3L

28

P 4 5 0 4 5 A 0 2 8 2 8



